' « STAND ‘N VIEW
ert ﬂeX MODEL 110

PI.O uc S ASSEMBLY INSTRUCTIONS

GEHERAL INSTRUCTIONS

To facilitate the assembly ofthis produd, special fitings have been
pre-mourted on some panels. Atfter install ation of SHOLULDER
SCREWS onto the edges of some panels, all that is needed to fasten
the panels is to match the male and female fittings, tap the pansls
gently to insure a good fit and tum the phillips head onthe female
fiting clockwise, using a phillip s sorewdriver.

Ifthe panels nesd to be taken apant, simply reverss the procedure.
Care must be taken, however, 50 as notto damage the fittings.

INPORTANT

SHOULDER SCREWS (male fittings) mounted on the edges of the
panels are HOT CENTERED (Zee figure below). The portion which
has the shorted distance to the edge ofthe panel MUST be adjacent E

-

tothe phillips screwhead on the female fitting. To aid in asssmbly,

parts have been stamped with an ARROW on the EDGE to indicate . |~
dirzction ofthis offset. ~ 7
. TOOLS REQUIRED :
ARROW STAMP ON EDGE #2 PHILLIPS SCREWDRIVER =
Ng~ | S
- -~ _.-"'-- e
el - GFFSET ON EDGE , RN I
-~ CLOCKWISE
SHORT DISTANCE e DIRECTION
TO EDGE e S UNTILTIGHT
- - _-___..--" L 1!-:,‘_ - . -""."-.,.-'..
b ™ <7~ PHILLIPS HEAD ~ LT S
S . ONFBJALE FITTING — P
.~ -~  (FACTORYINSTALLED) N~ T
"""*-H..T - ~J N FEMALE FTTING
- HARDWARE LIST e
A B D E
i Procrccos (g
SHOULDER SCREWS CASTER SCREWS Smm EURO S CREW
o8 CASTER BRACKETS i CASTERS 4703
- #2585 #253 e
F c @ H @ |
18" CABJNET RALS piGHT RAIL LEFT RAIL -
e SHDWM_W MIRROR o fﬂ
| LEFT Frer pRs = -y =
il o+ ¥ os &M m& SHELF PIN  #6 X 5/8" FLAT HEAD SCREW @ ,
#132
‘ﬁk L T '.:?:i £ RS T BN T ﬁ‘ (@) [_EII:I_'] @
DOOR LOGCK W/ RING
- L U AND (7) KEYS
6% 12" TRUSS HEAD SCREW ELBOW CATCH g ELEOW CATCH HOOK (o, . "E,'J:,':'
117 #428 (SET) | ey 426 (SET)
PAGE 1 () (1 (n

110 CONTINUED NEXT PAGE se——



"f'@ HARDWARE CONTINUED
16" ORANER RAILS

#435 - F =
1 RIGHT e RIGHT RAIL LEFT RAIL
STF“:EﬂgLﬁTE 1 LEFT USE OPEN SIDE OF RIVET A8 SHOWN  MIRROR
fr P REFERENCE- MUST BE UP a
iy LEFT HINGE | B /' USETHESE SLOTTED \\ & |RIGHT HINGE
#A0F /. HOLES AS REFERENCE 4705
(2) 23

(] MOUNT TO

MO UNT TO

BLAZK'WRIST REST LEFTDOOR RIGHTDOOR
#354 MOUNT TO MO UNT TO
i1 LEFT SIDE RIG HT SIDE

1.IDENTIFY ALL PARTS.
Ifany parts are missing OR vou have guegions about assembly, please call CUSTOMER SERMCE 1-800966-5511
Monday - Friday Sam. TO 4: 30pm. (Tentral)

FACTORY INSTALLED
FEMALE FITTING N

e j/ “ /,f’f N

o ) ] ;

e
LEFT SIDE #

LEFT

RIGHT DOOR

DOOR

LI S -

+
LR R T Y

#
o ]
# MONITOR
SHELF T
RIGHT
SIDE
M‘x
FHINTEHSHELF\
EUTOUTS Ll
IDEMTIFY PARTS FRE O UNDERSIDE
FARTS LIST BELOW: L~
[NO. WOODPARTUST WOOD PART SEES  WOOD PART NUMBERS
: THICKMESS WIDTH LEN& TH
| 1 RIGHT SIDE s e L et L 110-RSIDE + COLOR
| 1 LEFTSIDE s e L et L 110-LSIDE
| 1 BOTTOM sig ERE xa TBOTTOM
L1 TOP Sig 2408 AE 110 TOP
| 1 BRACE sig x xa 110-BRACE
| 1 MONITOR SHELF sig ERE L xa 11 MONSHELF
| 1 PRINTER SHELF sig A Ve x21 11-PRMSHLF
| 1 CPUSHELF s 1 xao 110-CPUSHELF
PAGE 2 1 BACK s xao o 1-BACK
2 DOORS s HADTE 3212 10DOORS

10




2. CASTER BRACKET AND CASTER INSTALLATION

Lay RIGHT and LEFT SIDES on a flat, non-scratch surface |, assembly fitings facing up. ALIGH CASTER
BERACKETS (B) with hole on bottom edge of panel. NOTE: Large hole on CASTER BERACKET must be to inside
(fitting side) of panel. Start BREACKET onto board at one comer first . Push BRACKET allthe way onto panel.
ATTACH with CASTER SCREW (C) through mourting hole. INSERT CASTER stem into larger mourting hole in
BERACKET and push until it "CLICKS"into place . (FIG. 23 - SEE BELOWFOR LARGER WIEW OF SIDE.

INSIDE OF SIDE PANELS

ALIGH E’Hh‘“m ATTACH @“\x INSERT ) H“x

3. DETERMINE POSITION OF SHELVES

Decide the best intemal shelf arrangement for equipment to be used inthe unit. A series of pre-drilled holes on
SIDES have been provided to allow for maximum flexbility of CPL and PRINTER SHELF configurations.

Detenmnine mounting position of printer shelf rails basad on printer to be usad. Measure over-all height of prirter,
induding paper guides andior tracdor feed assembly, ifany. ForDOT MATRIE printers, BOTTOM ofunit may be
used for input paper storage. For LASER JET orINK JET printers, shelf rail may be mounted at lowest position in
series of holes on SIDES for maximum access. Measure height of TPLU to detemmine postion for CPLU SHELF on
acljustable SHELF PINZ . Consicder DEP TH of CP LU and any possible contact with underside of MOMITOR SHELF.

FIG . 3 shows configuration with CPLU
above PRIMTER . This arrangement

may be reversad by mounting
PRINTER SHELF RAILS at higher RIGHT
position and CPU SHELF below SIDE —
PROCEED TO PAGE 4 - i
HARDWARE INSTALLATION MOINITOR
=HELF
¥
f_______d_-—~' CPLU SHELF
CPUHEIGHT — & . é.SHELF F"NS%. J
. .
— + FEINTER «
P « SHELF
PRINTER HEIGHT — +  (RAIL) =
| == - = |
& * ﬂ *
* BOTTOM *
1 (& BRACE) "
]

FIG. 3 % = “’%

PAGE 3
10



4. PREPARE DOORS

Lay RIGHT and LEFT DOORS on a flat, non-
scratch surface, hardware mourting holes
facingup. FIG. 4

On RIGHT DOOR align and attach (2
RIGHT DOOR HINGES (@) asindicated
using (3 #6 X S/8"FLAT HEAD SCREWS ()
each. HOTE: Qpen side of HIMGE RIVET
must face upwards (SEE HARDWARE LIST
for direction of hinge references).

Align (11DOOR LOCK (J)
with large mourting hole in
RIGHT DOOR as shown. (:l
Press-fit DOOR LOCK

FINISHING RING over H’I"‘GDH'-'T”JGTSH N
bhamel of DOOR LOCK from
opposite side. NOTE:
Insure CAM on lock faces in [ =F
opposite direction of hinges.
Attach with (20 #6 X 5/8"
FLAT HE AD SCREWS (1)

O LEFT DOOR align and attach (2)
LEFT DOOR HINGES (P) as indicated
using (3) #6 = 5/8" FLAT HEAD
SCREWS (1D each. MOTE: Open side of
HINGE RIVET mud face upwarcls (SEE
HARDWARE LIST for direction of hinge
references). Align (1) STRIKE PLATE
with (23 pre-drilled holes near other edge
of LEFT DOOR using (2) #6 * 172"
TRUSS HE AD SCREWS (K). MOTE:
Projedion on STRIKE PLATE mourts
even with edge of DOOR as shown.

Align and attach (1) ELBOW

K r 1
i

LOCK FINISHING RING

CAM ON LOCK

RIGHT
LOOR

CATZH (L) to lower portion of

door using (2) #6 ¥ 1/2" TRUSS

HEAD SCREWS (K). MOTE:
Projection on ELBOWY CATCH
faces dowrward .

SETDOORS ASIDE FOR
LATER ATTACHMENT TO
SIDES.

PAGE 4
110

ﬁf/

MOLINT WITH

PROJECTION

EVENWITH
EDGE OF DOOR LEFT
DOCR

F




HARDWARE INSTALLATIONTO

DETAIL FIGHT/LEFT HAND INDICATOR STAMP
DESIRED CONFIGURATION
Assemby of CABINET RAILS and shelf pins [_ = ST
determined_tn vour desired configuration and -
may vary slightly from figures as shown. USE THESE HOLES FOR MOU NTING
A A A FIG.5
e a L
T = 9. RIGHT SIDE
i B =t ‘%?E Insert (1) SHELF PIM (H) into middle hole in
%/L i series of (3) holes near back-upper portion of
& = Il h- panel. FIG. 5 Align and attach (13 16" RAIL (F)
& at desired position using (23 Smm
H- E EUROSCREWS (E). Insert (2)SHELF PIMS (H)
' E for desired location of TP SHELF.
2 E J
+ Align and attach (1) RIGHT DOOR to RIGHT
SIDE using (3) #6 x 5/8" FLAT HEAD SCREWS
L -+ = R F RIGHT (1. Insure that LOCHK is in position as shown in
& I,_-’J,f k) DOOR relation to RIGHT SIDE .
— H
* ¥ Ingall (3) SHOULDER SCREWS (&) along top
RIGHT * : edge of SIDE as shown. Tighten urtil snug. DO
SIDE . | + HOT OVER-TIGHTEN.
— = Lo b
Y B |
=
& . E’ - A A A
- | I — - - =
® {3
R S
% %’%? | 1 =
6. LEFT SIDE -i_.hj@
Insert (1) SHELF PIM (H) into middle hale in #
series of (3) hole s near back-upper podion of [ E E -'xﬂH
panel. FIG. & Align and attach (1) 16" LEFT g ‘g‘ .
CABIMET RAIL (&) at cesired position using E
21amm EUROSCREWS (E). Insert (2) *
SHELF PIMS (H) for desired location of CP L GE: - = = =
SHELF &t same level as RIGHT SIDE . 1{;} i}, @
LEFT 4 AP
Align and attach (17 LEFT DOOR using (3) 6 DOOR :_ H .
X 5/8" FLAT HE AD SCREWS (1). . .
. . LEFT
Ingtall (3) SHOULDER SCREWS (&) along * * ZIDE
top edge of SIDE as shown. Tighten until JL | -
gnug. DONHOT OVER-TIGHTE . E{ L= .
+* b *
iy -
-
FIG. 6

FPAGE S
110



{.INSTALL SHOULDER SCREWS
Ingtall SHOULDER SCREWS (A into pre-drilled holes in edges of
panels as shown. FIG.7 DO HOT OVER-TIGHTEHN. Ingtall (1)

ELEOW CATCH HOOK (M)to pre-drilled hole on face of BOTTOM ey

using (1)#6 x1/2" TRUSS HEAD SCREW (K). BEFORE tightening -

screw completely, hold PLATE back into postion (perpendicular to _,ﬁ

edge) and againg screw as shown. - f-‘

Install (4)SHOULDER SCREWS into BOTTOM.
Install (3)SHOULDER SCREWS into BRACE .
Install (2)into MOMNITOR SHELF. Install (&)
SHOULDER SCREWS into BACK . FIG. 7

BACHK
(WOT TO SANE
SCALEAS OTHER
PARTS ONM THIS PAGE)

-
-

r

SET PARTS WITHIN REACH
FOR ASSENBLY ON UNIT

Lay PEIMTER SHELF on a flat, non-
soratch surface, rail mourting holes
facing up. Align and attach (2716"
DRAMNER RAILS as shown using (2)
#6 ¥ 5/8" FLAT HEAD SCREWS (1.
MOTE: Postion of WHEELS on
DRANER RAILS areto the REAR of

the PRIMTER SHELF. DR ANER A PRIMTER
. RALE EYEMN =
RALS mourt even with FROMNT edge wilH EOGE i SHELF
of SHELF.
OPPOSITE
cI0E FROMT
PAGE G

1 1 D F&ILE EWEN
WITH ELDGE



FINISHED EDGE
/

/

8. ASSEMBLE CABINET

With EIGHT SIDE still laying on a flat, non-soratch surface, RIGHT
DOOR laying flat as shown, align and attach BACK 1o RIGHT SIDE.
HOTE: ARROWS stamped on edge of panel must face toward front of
unit and FIMISHED EDGE as shown.. FIG. & Tighten fitings.

BACK Align and attach BRACE to RIGHT SIDE, ARROWS facing to front of
unit. HOTE: SIMGLE SHOULDER SCREW on edge faces bottom of
unit. Tighten fittings.

@ MPORTAMT. CARE MUST BE TAKEN TO KEEP ATTACHED PANELS

IN UPRIGHT POSITION UNTIL FULLY ASSEMELED 50 AS TONOT
DAMAGE PAMELS OR FITTINGS.

FIG.8

9. ASSEMBLE CABINET
Align and attach BOTTOM to RIGHT SIDE and
then to BRACZE . NHOTE: ARROWS stam ped on

edge of panel must face tovard top of unit.
FIG. 9 Tighten fittings.

Align and attach MOMITOR SHELF, ARROWS
on edge facing as shown, to RIGHT SIDE ..
Tighten fittings.

E:::::%iiEinh:

|
SINGLE
SHOULDER
SCREW

MOMITOR
SHELF

/ BAGH MONITOR

SHELF

FIG. 10

10. ASSEMELE CABINET
Use 2 people to CAREFULLY lit LEFT SIDE with LEFT DOOR
folded in open position as shown.  Align and attach LEFT SIDE
to MOMITOR SHELF, BOTTOM, BREACE and BACK. FIG.10
From under LEFT SIDE tighten all fitting s.
FAGE Y
110



1. CLOSE AND LOCK DOORS

Close and lock doors as shown. FIG. 11 Using 2 people, carefully
gand unit up orto casters.

FIG. 12

13. WRIST REST AND SHELVES
Install CPU SHELF onto SHELF PINS. Install PRINTER
SHELF onto RAILS. Align wheelon PRIMTER SHELF
R AL above and behind wheel on CABIMET RAILS.
Push shelfinto engage RAILS.

MOTE: CARE MUST BE TAKEN IM POSITIONING WRIST REST

ONTO KEYBOARD AREA. OMCE ADHESIVE IS ACTIVATED,
WRIST REST MAY NOT BE REFPOSITIONED .

Remove paper liner from adhesive strip on the back of
WRISTREST (0. FIG. 13 Carefully align WREIST
REST along front edge of KEYBO ARD area of TOP -
centering it from side to side. Press WRIST REST onto
shelfto securs.

12. INSTALL TOP

: Align and attach TOP to RIGHT and LEFT SIDES. FIG. 12
L Dpen DOORS and tighten all fittings from under TOP.

BOTTOM
PAPER OR
QOTHER
STORAGE

MONITOR

LI SHELF

TER SHELF

Y,

&

PAGE B Wertiflex Products, AWPIVenture Group, LLC Division
wasan v e tiflexproduck . .com

110



